Equal 9 step grey scaling betweeb* ggn=14.4 andL*gaw=125.1,Ype1=3.6, normalisation greyU

L*0anF14.4, L% 0au=69.7, L* 0aw=125.1, Yoan=1.8, Yoaum40.4, Yoanw=180.0,Coay=Yoaw Yoan=99.9
L*tan=26.6,L*1au=69.7,L*1an~122.0,Y;an=4.9, Yiau=40.4, Yian~168.6,Cay=Yiaw: Yian=34.0

Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PL* min] / [AL* max], L* cleLaB = 116 [Y/Yn]¥/3 - 16 with Y >= 0,882,Y,=100
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g%= 99, g%= 99 9%= 71, g%y= 61 g%= 94, g%5= 91
intended output real output linearized output
L*0a L*Or YOa YOr ;Ll*a Al*a L*tr Yta (L*tr) 11151%a Al*a
1251 10 180.0 1.0} 1220 1.0 1686 1.0 122.0

: 13.2 11.6
111.3 0.875 132.1 0.731 108.8 0.861 124.6 0.878 110.4

3 13.2 11.8
974 075 935 0514 95.6 0.723 89.1  0.755 98.7

3 13.0 12.0
83.6 0.625 63.3 0.345 826 0.587 61.4  0.629 86.7

3 12.8 12.1
69.7 05 404 0217 69.7 0452 404 0502 74.5

: 125 12.3
55.9 0375 238 0.124 57.2 0.321 252  0.373 62.2

3 11.8 12.3
421 025 125 0.06 454 0.197 148  0.244 49.9

; 10.6 12.0
282 0125 55 0.021 348 0.086 8.4 0.119 37.9

3 8.2 11.3
144 00 18 00! 266 00 49 0.0 26.6

0autYoref

ol AL* =138  (i=1,2,....8) normalisation: YtaiU:YOaUM
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